CONGCRUENT TRIANGLES.
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I A AR :,4@) AD bisects LBAC,
d ' Prave‘ AARD = L ACD ansl
hence DB = DC,
B C
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2. AB //DC . 4B = /LD,
A Prove AABC = AcCDA
and AD = BC.
D C '
é,- 3 RS g the right bicsector of PQ
| Prove APsr = AQSR and PR =RE
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AB =DC = AD= BC.
Prove A ADB = Ac8D
~and AB // DC AD //BC.
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AB//DC anel AB = DC.
Prove AADe = ACRBA
anel AD//Bc) AD = BQ,




CONGRUENT TRIANGLES (cont)
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0 is the centre of both
C (rcles,

Prove AA0C = A BOD an ol
hence AcC //8D.

in the figure. Prove fhem
conar‘uent, Set out a pros-
+hat BX = CVY,
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ABCD 18 a r‘ecfanafe (re.

o pposite sides Gq/bcal an ol pamﬂey
Findl 2+ MBC with reasong .
I AL 4L BD ane CM 1L BD

show AL = MC

ABCD s « square
CX s made ezp.uczl to CVY.
Prove that AXx = AY.

pi The point P is eq/w'dfs'ran‘l‘ from- the points A, B.

Prove +that i€ M is the midpoint of AB then PM L AB
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B LMBC =67 Caliamats onglos )

AHM To show AL=M(
Poosf: Ly D MBC ond LDA S
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. A8 -8X = Ad~DY

. AX = AY
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